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Answer Key ¢ Lesson 4: Hundredths

Student Guide

Questions 1-25 (SG pp. 466-471)

I. A.* A denominator of 100 means the whole is
divided into 100 equal parts. In this case,
one dollar is divided into 100 cents.

B.* A numerator of 1 means we are interested
in 1 of the equal parts.

C.* The 0 to the left of the decimal point in
0.01 means there are no wholes and the
0 to the right of the decimal point means
there are no tenths.

2. A. fourteen-hundredths of a dollar
B. o5 and 0.14 (Writing .14 is acceptable.)
3. A.*fifteen-hundredths of a meter; 0.15, %
B.* More than one-tenth of a meter

20
4. A. 5 of a meter
B 10 . 20

= 100 M> 790 M

30 30
5. A. {; of a meter

10 20
;700 » 100 and o5 of a meter

> 100 > 100
6.* A bit is used to show one-hundredth because
100 bits make a flat.

7. A. 10 hundredths; 755 and 0.10
B. 40 hundredths; % and 0.40

C. 100 hundredths; {33 and 1.00 (or 1)

*Answers and/or discussion are included in the lesson.

Hundredths

Exploring Hundredths

Jackie is counting the pennies in her
piggy bank to see how many dollars

she has. She puts the pennies into piles
of 100 since she knows that 100 pennies
equals 1 dollar. Jackie knows that

1 penny is one-hundredth of a dollar.
You can write the fraction for
one-hundredth as a common fraction

or as a decimal fraction:

& 0.01

ccommon fraction decimal fraction

1. A. What does the denominator mean in the fraction 135?
B. What does the numerator mean in the fraction 135?
C. What do the zeros mean in the decimal fraction 0.01?

In the decimal fraction, the digits mean:

no tenths
no whole number “ ‘
0.01
X one-hundrecth

After Jackie finished putting her pennies into piles of 100, she found that she
had 28 pennies (28¢) left over. These 28 pennies are a fraction of a dollar.
We can write it as a common fraction () or a decimal fraction (0.28).

We say, “twenty-eight hundredths.”
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2. A. Jackie found 14 pennies in the bottom of her desk drawer. What fraction
of a dollar does this represent?

B. Write this fraction as both a decimal fraction and as a common fraction.
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Frank knows that there are 100 centimeters in a meter. That means that the
length of one centimeter is 0.01 or 33 of a meter. Frank’s pencil is 15 cm long.

U MU MU MU L L L ”HHHE‘H
mm il L

t 100 centimeters = 1 meter
15cm

3. A. What fraction of a meter is the length of Frank’s pencil? Write this fraction
as both a decimal fraction and as a common fraction.
B. Is the pencil more or less than one-tenth of a meter?

4. Ming’s pencil is 2 skinnies long. He knows 2 skinnies is % of ameter.
12
7010
T
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A. How long is the pencil in hundredths of a meter?
B. Ming showed how he counted tenths of a meter.
Count the length of the pencil using hundredths of a meter.

5. How many hundredths of a meter is Shannon’s super-long pencil? Tell how
you counted the length of the pencil using hundredths of a meter.

oo
T
T 80 90 1M
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| 10 20 30 40 50
Showing Hundredths with Base-Ten Pieces

=

Irma uses base-ten pieces to show hundredths. She learned in Lesson 2
that if a flat is one whole, then a skinny is one-tenth (0.1) of a whole and a
pack is ten (10) wholes.

10 AP 1  axmem 04
ce should Irma use to show one-hundredth? Explain why
you chose the piece you did.

7. A. How many hundredths does a skinny represent? Write this number as a
common fraction and as a decimal fraction.
B. How many hundredths do 4 skinnies represent? Write the number as a
common fraction and as a decimal fraction.
C. How many hundredths does a flat represent? Write this number as a
common fraction and as a decimal fraction.
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Nicholas used the following base-ten pieces to show a number. If a flat is one
whole, what number do these pieces represent?

o a

seiia o’ o
AP T ommm oo
e o

These pieces show 3 wholes, 5 tenths, and 7 hundredths. We can write 3.57 or 3%
for this number. We read both 3.57 and 33; as “three and fifty-seven hundredths.”

We can record 3.57 in a place value chart.

Place Value Number Sentence
Tens |Ones| . [Tenths |Hundredths| Decimal Fraction |Common Fraction

_ 5,7 _g5
3.57 0 3 [.| 5 7 3+.5+.07=857|8 + 4+ 10 =85

The 5 to the right of the decimal point is in the tenths place and the 7 is in the
hundredths place. So 3.57 is made up of 3 ones (3), 5 tenths (%) and
7 hundredths (%).

8. A. Place these base-ten pieces on your desk. If a flat is one whole, what
number do these pieces represent?

Number

9
3
g
°
B. Write this number as a common fraction and as a decimal fraction. B
C. What digit is in the tenths place? i
D. What digit is in the hundredths place? %
]
9. A. Place the following base-ten pieces on your desk. If a flat is one whole, &
what number do these pieces represent? %
3
o e e
s H
8
B. Write this number as a common fraction and as a decimal fraction. 2
C. What digit is in the tenths place?
D. What digit is in the hundredths place?
468 G- Grade 4+ Unit 10 - Lesson 4 Hundredths
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10. Mrs. Dewey’s class recorded the number for these pieces.

Romesh recorded 5.80. Jessie recorded 5.8. Frank recorded 535 .
Grace recorded 5. Which student is correct? Use base-ten pieces to
explain your answer.

-

. Get a handful of mixed skinnies and bits and count them by hundredths.
Count the skinnies first (ten-hundredths, twenty-hundredths,
thirty- hundredths, etc.) and then count on for the bits. When you finish,
write the decimal number and the common fraction for your handful.

Base-Ten Shorthand
Tanya used the following base-ten pieces to show the number 3.45.
e

feesss ] oo

g ®ao

She showed her pieces using base-ten shorthand.

oao gl

Tanya explained how she counted the base-ten pieces.

oog o

10, 20, 30, 40 .. .45
hundredths

3 wholes

12. Use base-ten pieces to make these numbers. Then use base-ten shorthand
to show the pieces. A flat is one whole.
A. 234 B. 0.08 C. 0.30 D. 13.42 E. 3.04
F. Show how you counted the base-ten pieces for Question 12A.

13. Write a decimal and a common fraction for the base-ten shorthand below:

S W
OO0 SOl
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*Answers and/or discussion are included in the lesson.

Answer Key ¢ Lesson 4: Hundredths

8. A. 5.62; 5 wholes, 6 tenths, and 2 hundredths
B. 52 and 5.62
C.6
D.2
9. A.* two and three-hundredths
B.* 2:3; and 2.03
C.x0
D.x3
10.* All are correct. 5.80 means five wholes, eight

tenths, and no hundredths. 5.8 means five

wholes and eight tenths; no hundredths is
implied. S% and 5% are the common fractions
for these numbers. Using base-ten pieces, all
four students show the same pieces. The
difference is how they are counted. Romesh is
counting the bits or hundredths. Jessie is

counting skinnies or tenths.
I'l. Answers will vary.

12. A. DD III....

Or.Illl deecede ecddccse

aoaoalf-
DD D ecas

\uw}

2 wholes

A
B
C.o|florssazs sisas tazss
D
E
F

1020 30... 34
hundredths
13. A. 423 and 455 B. 2.57 and 2%
C. 21.09 and 21555 D. 20.3 and 2055
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4. A.

| and “

14. A. Use base-ten pieces to make 0.1 and 0.2.
B. Use base-ten pieces to make a number more than 0.1 but less than 0.2.
. . . Use base-ten shorthand to show the pieces you used. Then write your
B. Answers will vary. POSSlble responsc: number as both a decimal number and a common fraction.
15. A. Use base-ten pieces to make 2.5 and 2.6.

€cscas O 1 5 and 100 B. Use base-ten pieces to make a number more than 2.5 but less than 2.6.
Use base-ten shorthand to show the pieces you used. Then write your
number.

15. A. D D ' I l I I Adding a Bit (0.0D) and a Skinny (O.1)

Use a meterstick, skinnies, and bits for Questions 16-25. A flat and a
meterstick each show one whole.

16. Luis grabbed 2 skinnies and 8 bits in his handful for Question 11.
O] D 111 3023

a
o%oa

B. AIISWCI‘S Wlll Val'y POSSlble response A. What number did Luis grab? Write your answer as a decimal.

B. Luis added one more bit to his handful. Write the number for
one bit, the number he added, as a decimal.

L I |
I I I | I I l l ' C. Write the number he added as a fraction.
D. Write Luis’s sum as a decimal.
E. Write a number sentence for Luis’s sum.

2.53 and 2
. an 100 17. Locate your answers to Questions 16A and 16D on a meterstick.
A meterstick is one whole.

*
I 6' A' 028 18. Luis started with 0.29 and added one skinny to his handful.
A. What number did he add? Write your answer as a decimal.
B.* 0.01
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B. Write the number he added as a fraction.
1 C. Write Luis’s sum as a number sentence with decimals.
. * m D. Locate Luis’s sum in Question 18C on a meterstick.
19. A. Write a number sentence for adding one skinny and one bit using

D_ * 029 decimals. What does each number in the sentence mean?
B. Write a number sentence for adding one skinny and one bit using

E.* 028 + 001 = 029 common fractions.

20. Use a meterstick or skinnies and bits to find the following:

I 7- A. A. 0.1 more than 0.35 B. 0.01 more than 0.35
0.28\ /0.29

C. 0.1 more than 0.05 D. 0.01 more than 0.05

10 20 30 40 50 60 0 80 90 1M 470 G- Grade 4 - Unit 10 - Lesson 4 Hundredths

18. A.* 0 10 or 0.1
. 1 Student Guide - Page 470
B. 100 or 1o g
C.»0.29 + 0.10=0.39

D.* 0.39_

10 20 30 40 50 60 70 80 90  1M|

19. A.0.10 + 0.01=0.11
The zeros to the left of the decimal mean
no ones. The first place to the right of the
decimal shows how many tenths. The

second place to the right shows how many

hundredths.
11
B.* '+m 100
20. A. 045 B. 0.36

C. 0.15 D. 0.06

*Answers and/or discussion are included in the lesson.
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Comparing Decimals Using Hundredths

21. Jerome used a meterstick, skinnies, and bits to measure distances to the
nearest hundredth of a meter. Write Jerome’s measurements as decimal

fractions.

A. 5 skinnies and 5 bits B. 3 skinnies and 8 bits
C. 1 meterstick and 5 bits D. 1 skinny and 5 bits

E. 15 bits F. 40 skinnies

G. 5 bits H. 2 skinnies and 20 bits

22. Look at your meterstick.
10 20 30 40 50 60 0 80 90 M)

A. Where is one-half () meter? Write the distance as a decimal.

B. Where is one-fourth (%) meter? Write the distance as a decimal.

C. Where is three-fourths ($) meter? Write the distance as a decimal.
23. Use your work for Question 21 to make the number sentences true.

Use <, >, or=.

A025( ) c.o4 () 02

;
T

D. 0.5 Q T E. 05 C 0.12 F. 0.50 C 0.6

cors( ) 2 H. 075 () 08 Los () o7s

24. Ana used metersticks to measure the distances shown on the metersticks
below. Write each distance to the nearest hundredth of a meter.

e @ © © © ©

R e

B.025( ) 01

25. Use your work for Question 24 to make the number sentences true.
A 150 () o082 B.0oos () o082

C. 016 C 1.30 D. 1.08 C 1.50

The Using a Hundreths Chart pages in the Student Activity Guide provide practice
with skip counting by hundredths.
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I GHomework NN

C these

after playing F , F , |
1. Lee Yah and Jerome were playing Hundredths, Hundredths, Hundredths.
Jerome tried to trick Lee Yah by making this number:

For her fractions Lee Yah wrote 2 and 0.023 and said, “Twenty-three
hundredths.” Lee Yah said she should earn 3 points.

Jerome thought that Lee Yah was wrong, but he couldn’t explain why.
What do you think?

I

. Write the common fraction and decimal for the next number Jerome made.

S -

. Write the common fraction and decimal for Lee Yah’s next number.

Ny -

. Jessie and Roberto were playing. Roberto made ///// .

©

IS

this number. Write the common fraction and
decimal fraction for Roberto’s number.

o

Jessie made 6.48. Use base-ten shorthand to show this number.

o

. Roberto wanted to build the number 9.06. Use base-ten shorthand to show
what pieces he should use.

7. Jessie wrote nine and six-hundredths as 9.6. Explain why this is incorrect.
Measuring a Hundredth of a Meter

8. Jerome measured several distances. They are labeled on the metersticks
below. Write each distance to the nearest hundredth of a meter.

®© Cil

B e
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21.

22.

23.

24.

25.

Answer Key ¢ Lesson 4: Hundredths

B. 0.38 meter
D. 0.15 meter

A. 0.55 meter
1.05 meters

. 0.15 meter F. 0.40 meter
. 0.05 meter H. 0.40 meter
0.50 meter
0.25 meter

0.75 meters

>MO>00>0wW>0OmMO

= B. > C. >

E > F. <
.= H < I <
0.30 meter B. 1.30 meters
0.81 meter D. 0.08 meter
. 1.50 meters F. 0.15 meter
> B. <

D. <

o
A

Student Guide

Homework (SG p. 473)
Questions 1-8

o F N

4 1G.Grade 4-Unit10 - Lesson 4 - Answer Key

Possible responses: The common fraction % is
correct, but the decimal fraction 0.023 is not
correct. Lee Yah is wrong because the 0 in the
tenths place in 0.023 means that there are no
tenths. Since the twenty bits can be traded for
two skinnies with 3 bits (3 hundredths) left

over, the number should be written 0.23.
250 and 2.52

15 and 2.91

—band 0.54

aagaan e
U

JudogestTs
Hoa

9.6 means 9 wholes and 6 tenths, not 9 wholes
and 6 hundredths. Nine and six-hundredths is
written: 9.06

A. 0.40 of a meter

B. 1.04 meters

C. 0.48 of a meter

D. 1.10 meters

E. 1.83 meters
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Student Activity Book

Name Date

Using a Hundredths Chart (SAB pp. 421-423) Using a Hundredths Chart

. Professor Peabody made a Hundredths Chart. He forgot to fill in some of the
Questlons 1—8 chart. Help Professor Peabody by filling in the missing values.

Hundredths Chart

I - A- O- 1 0.01(0.02 0.06 0.1
B. 0.1 means one-tenth or 1 skinny. Since 012 o 018
1 skinny is equal to 10 bits, one-tenth is il - =t
equal to ten-hundredths (0.1 = 0.10). Note e — = — =
that in the decimal 0.10, the one means Iy
there is one-tenth and the second zero 061 065 o8| 0.7
means there are no hundredths. 0.7 o7 079
0.81 0.88 0.9
C. 0.21 ol oo o7 ;
D- 0.19 Use your completed chart to answer Questions 1-4.

1. A. What number on the chart comes just after 0.09?

E. 1.00 or 1.
2.* See the Sample Dialog in the lesson.
3. A.0.76
0.74

B. Why is it recorded as 0.1? What do the digits mean?

C. What number comes just after 0.2 on the chart?

D. What number comes just before 0.2?

E. What number comes after 0.99?

Copyright © Kendall Hunt Publishing Company

N

0 85 . Describe any patterns that you see in the Hundredths Chart you completed.
. Write your answers on the back of this page.

0.65

0.51
0.6

0.26
0.35

0.06
0.15
C. Find 0.1 more than 0.75. Where is it on the chart?
7. A- 030 B. 028 D. Find 0.1 less than 0.75. Where is it on the chart?
C. 039 D. 0 1 9 4. A. 001 morethan0.5is . B. 0.01lessthan0.5is

C.01morethan0.5is . D.0.1lessthan0.5is
8. A. 071 B. 069 Use the | Chart or skinnies and bits to Qi i 5-8.
C.038 D. 0.6

Hundredths SAB. Grade 4 . Unit 10 - Lesson 4 421

0.49

0.4 Student Activity Book - Page 421
0.24
0.15

O 04 3. A. Find 0.01 more than 0.75. Where is it on the chart?

Name Date

W OwW Ow

B. Find 0.01 less than 0.75. Where is it on the chart?

o
O> 0> 0> 00

5. A. 0.25 + 0.01= B. 0.25 - 0.01 =
C.0.25+01= D. 0.25-0.1=
6. A. 0.05 + 0.01= B. 0.05 - 0.01 =
C. 0.05+01=
. 7. A 0204001= B. 0.20 - 0.01 =
z
H
§ C.020+01=___ D. 0.29 - 0.1=
i B A07TH001=__ B. 0.7 - 0.01=
:
5
3 co7+01=__ D. 0.7 - 0.1=
3
2
]
H
8
Hundredths SAB . Grade 4 . Unit 10 . Lesson 4 423

Student Activity Book - Page 423

*Answers and/or discussion are included in the lesson.
TG - Grade 4 - Unit 10 - Lesson 4 - Answer Key 5



Answer Key ¢ Lesson 4: Hundredths

Many Ways to Show Hundredths (SAB p. 424)
Name Date .
Questions 1-3
Many Ways to Show I
Hundredths .
1. Complete the place value chart. Use decimals in the number sentences.
Number Place Value Number Sentence
Number [Tors OnesP '?C.I?e::::‘. Number Sentence Tens |Ones| . Tenths [Hundredths
A.| 2437 . 20 + 4 + .3 +.07 = 24.37 A.| 2437 2 4 3 7 20 + 4 + 0.3 + 0.07 = 24.37
B.| 13.09
B.| 13.09 1 3 0 9 10 + 3 + 0.09 = 13.09
C. 4 6 5 .
D.[ 224 . C.| 465 | 0| 4 || 6 5 4+0.6 + 0.05 = 4.65
E. 77 0
D.| 224 | 0 | 2 2 4 2+02+0.04=224
2. Complete the place value chart. Use fractions in the number sentences. *
Number [Tors OnesP I?D-;::I:. Number Sentence E. 7.7 0 7. 7 0 7+07="177
Al 1128 . 1041+ 545 = 112 g
B.| 27.08 E 2-
c.| e g
== : Number Place Value Number Sentence
D.] 175 g Tens |Ones| . (Tenths [Hundredths
. H 2.8 28
E.[ 684 . & A.| 1128 1 1. 2 8 10 +1 + 35+ 155 = 1355
3. Label the following numbers on the number line below. The first one is an é 3 3
example. 2 _
B.| 27.08 2 20+ 7 +555 = 2750
Ex.0.52 A 02 B. 0.95 c. 2 T 8 100 100
D. 0.80 E. 4 skinnies, 3 bits F. 72 bits C. 60.33 6 0 . 3 3 60 +1% +13W = 60713030
0 @ 1
Lissee st Lot st s s s S _ 45 1
t t t t t t t t t t t D. 175 1 7 . 5 0 10+7+10—1710 0r172
424 spB. Grade 4. Unit 10 - Lesson 4 Hundredths 8 4 _ 84
E. 6.84 0 6 . 8 4 6+ 10 +m = 67100
Student Activity Book - Page 424 3. ®
TN T
P I I I I I I I I I | v,
BN T T T T T T T T T T
02 27 0.43 0.52 0.72 0.80 0.95

100

Name Date

Linda’s Base-Ten Pieces

Linda’s Base-Ten Pieces (SAB p. 427)

Use base-ten pieces (packs, flats, skinnies, and bits) to answer the questions
below. A flat is one whole. Use decimals in your answers.

Questions 1-7
2. Ifaflatis 1, what number is a skinny? I' 100 or 10 2' 01 3' 001

3. Ifaflatis 1, what numberisabit? I+- | ‘ll | _|l 20 I l 1 . 1
Linda has two base-ten pieces. She might have bits, skinnies, flats, or packs. For
example, she might have two flats. She might have something else. l 1 1 o 1 O 1

4. Find all the possible sets of pieces that Linda might have. Use base-ten l l l l I l :

shorthand to show each set she might have. Write the number for each set.

10.01 l o 0.11

1. Ifaflatis 1, what number is a pack?

| l [ ]
5. What is the largest number that Linda could possibly have? Show or tell j
how you know.

I:] 'j 2 oo 0.02

5. 20; Possible response: The packs are the
biggest and show 10 each.

6. What is the smallest number that Linda could possibly have? Show or tell
how you know.

7. Put the numbers that Linda could have in order from smallest to largest.

6. 0.02; Possible response: There are only 2 bits
and they are the smallest pieces.

7. 0.02,0.11,0.2,1.01, 1.1, 2, 10.01, 10.1, 11, 20
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Name Date E Name Date E
% %
2 2
s . . b
- = 4. Maya built this number on her Tenths Helper chart. A flat is one whole. =
Hundredths and Tenths Quiz H :
g H
H H
: ¢ — ’ ’ H
1. Linda measured the distance her car rolled to the nearest hundredth of a meter. The distance is marked (L), for 2 A. Write this number as a decimal fraction. 2
Linda, on the metersticks below.
B. Write this number as a common fraction.
A. Write the distance as a decimal fraction.
Hundredths and Tenths Quiz
4n|u Feedback Box Q Expectation | Check Comments ”
B. Roberto’s car rolled 0.82 m. Show this distance on the metersticks above and label it (R . M = Measure length to the nearest hundredth of a M (=]
H [\ meter. [Q# 1A-B] 4 H ©
k] o. 3 o
. . Use words and numbers to read and write - '
C. Whose car rolled farther? Show or tell how you know. m ) decimals to hundre Q# 1A-D, 2, and 4] E6 m ®
IS P ————— I
< = < S
m S « base-ten pieces. [Q# 2, 4] ES m S
S A~ S A
B (-0 « number lines (metersticks). [Q# 1] B [0
Ak Bk
- ] Compare and order decimals. [Q# 1C, 3] E8 ) I
© Q
~ ~
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